=
1o

00

ol

OF

o

o

(et

13!
T
R0
<0
TS}
oJ
Rl
0D
Ki0
0
o0
I

ol
ulo

00

o
1H

1(00,12UTC)

10}
oll

2

=7

2y Ol 7| =

M

), X1

ey
oTT

72|t BmO| ), T (@I

9 | 20~55N, 115~155E | L&

e

X0
uir

B0
<

CHOl 1km

- dde

tet ML E 2E)

A0

Ols£5£E km/h &2 LIEHWDH, O]

HAl

"FOG"Z

off < 0f

HEl

o}

P22 AEOl 1Tkm Ol

- 0
[uily

J
r
m

ol

OF



- AR

vYw vVYy

2y
saH

rto
e oA
rx =
g

BHIEH

L £

»
b

FOG ot 7o

o ™

WL Il

2

i¥e

i
s
B/ 7 A\

—

/|

v S S
o

4
J,

L
ﬂ..--\.--v-'\/ﬁ'/
e 7~
TaadnikW

IVV//A//V\
/*M-..q_,-—n/

P Tl T T —

@ T Ml

@ el

i

-
Py

Sy

AR T T




